1.

wa ARteA L.
29.1+3



[]

378+9=42=3.78+9



3. 4707+ 9 =523 o] 85t WAl Q] g kA L.
A7.07 =9

D L
3%



0|7} 54.27 cm? ©]

4.

cm



2
D 15617 @) 2§ ® 55.35+5

@ 484 +8 ® 2867



tae 2 24 A oA |

7

6.

@ 0.374 ® 0.399 @ 0.542 ® 0.289

@ 0.418



ohe LheAlo] AATA 0 2 SHHE R o] AU

6.3 + 18
@ 0.35+18=6.3 @ 35x18 =6.3
® 35%x18=6.3 @ 0.35x18=6.3

® 0.035x 18 = 6.3



8. FF9 a7

it

H[WSH >, < BE =5 I HE oA L,

64+40948+6




9. T2 >, =, < S dIA HEOA Q.

72.3+6 O 87.6+8




® 18=+8



N

11. 7F27F43.6mo|al, Al271 28.5m<Q] ZAHFSE RoFo] Zdlto] Q&Y
o}, o] ZEo] o= Am] 235 A4, YA jhell= EHe A4,
Oy o= AR S3HE AdsUT H8E A2 2Ee Yolg
A L.

B .

J



12, ool 2 odote] FUA T AL BT W24 0,

@ 301.2+4="7.53
© 301.2+4 =753
© 451.8 + 9 = 50.2
@ 451.8 +9 =502

D R
=%



13.

oL bletE A7} 42.195km 2] A E 2A7F 5 E9] 7202
SUHE o] A7t 1 Fetoll 29l A= oF 2 k
2 B4 A 7HA] F5HA)2.(0.666 - - - — F 0.67

a =B 91‘”7 km

m A FHEH
)

=

o}

£ 3









16. %7} QT AHlolHR 1578 6571 71 o) 25627 2
FUk. o] Aefulole 2 1578 757H4 FH b Al AL
2917 T84 9.

B x



17. thg 29 Hol7t sL6em? A AAFZHGolth 7427t sem D
Az 2 em G2

T--8cm- -



18. E¢19] Zol7t52.08cm ] AAZGo] Azt o] AP Hol
L3 em? JU7RY

a = cm?



19. O, © 2709] 97| & Aol B2 A% o2 AFEY, O
7| oA Zof] F71A] @2 HEL 58.5cmo| 1L, © Tl 7] of| A &9l
71 2] 2 F22 @ g7|ol A Zofl #717] g2 F&o] Aty
0.25 cm7F A5 U E, © 97| oA &l 171 Fio] © A4 4
ol2] 0.75°] sffg e o], © vt 7] A ] Aoli=2 cm A FoHA L.

@ 69cm @ 87cm ® 116cm

@ 145cm ® 1455cm



20.

L

]L
20} WA EA o) BUs
A, ol Zlo] B km A QA=

km

58 Foto] 21kmE E2|1, BA| =8 E
o

A]



